Aol & AL g A A
20209 &= =20l & LB
M IIZFUII
1 200 Mol
2 0210 BAEMASY
& 2156 =R+ (4919
2H-2-2.8.5 Oll &F o & E 0l At Hns2
ES Al 25,259,560 8,049,121 17,210,439
JI= oIt 25,259,560 8,049, 121 17,210,439
200 Mel=+=¢ 500,800 553,000 A 52,200
210 BTN == 380,800 403,000 A 22,200
215 ARz 380,800 403,000 A 22,200
215-01 =R s=3+¢ 380,800 403,000 A 22,200
OtiERl=s FUR3 =Y 800
Ogg3died 3 F+xuis =¥ 380,000
220 SAIE AL+ 120,000 150,000 A 30,000
223 HESHIUHES 120,000 150,000 230,000
223-05 EE 120,000 150,000 230,000
OstZ 2t 28t W= 120,000
500 Ex= 24,758,760 7,496,121 17,262,639
510 3 082X3S 19,189,368 5,765,736 13,423,632
511 =2 08X =S 19,189,368 5,765,736 13,423,632
511-01 2 EX3 19,074,502 5,713,974 13,360,528
O88 N=sAEdd BE= N 12,000
Ot &d0E EH MelXld 25,800
OMASS M==AY E2 9,600
OA&EIIH Y H2EX 22 X 316,800
OA&IIAH A& WH X 346,500
O=2SsUHssEI|J 28 &2dl K& 276,000
O&EIIN=SXt Hheel g+ 22 3,250
OJl=8s A3 8 MY X 150,000
CEIASRN Y M2EI 23 X 77,782
CE2EESX RIJIHX XA 807,538
OO0IMS X 2ZEAIX& 44,000
OtisgAa agsHs ot 600
OCHIMARZE AIEE 24ItA AHALE XJ 12,750
OAmE2 MEE YXAE £X X 7,268,940
O=A2dsd8XX Sl X 2,250,000
OSdI0OIE XSHg XA 53,375
O &dl0lE EAH H™el XN 292,400
O24atA 2= AMEME X 50,000
O0lglol Setxtg LPaxt A& XI& 257,500




= A

=

0% e o

CJI=0oI

s
$
£l
o

SN-F-B-g-2 Ol &k o8 B ol by Bl =2
OM=AHU X X2 51,370
O&JIIHA AHl X 3,000,000
OFJI0IER 2l X & 23,000
OHIINsA #+H X& 2,800,000
O&Jlst= X #+Hl X& 180,000
OFg84 |27 8440 &3 X 79,900
OXg SHHBALY 2= X 130,879
OFAHINMA X H=Hl K& 60,000
OBAZEH QHES X8 125,000
OLPG st=AH AX 7 XI& 194,000
OPM.NOX SAIMZEX £ K& 151,795
OXNsXt EEAZQAERN CIMEE Xz 2,223,000& 2,223
OO0IME X 3XH& =H2e| 21,500,000 21,500
511-03 712 114,866 51,762 63,104
ONIIH PHS0 X2 114,866
520 Al - EHIE X =S 5,569,392 1,730,385 3,839,007
521 Al - SHIEXZZ=S 5,569,392 1,730,385 3,839,007
521-01 Al - EHIE XSS 5,569,392 1,730,385 3,839,007
OAHIIH Mot WX 25 X2 52,800
OAHIH ATDH X & 57,750
OHlI=& =d0lE EH ™MK 7,740,000 7,740
OBENESHIID 2YBelyl X2 48,900
OL=Z®X =JIHXIX K& 134,589
OL2ZSx e HLEI 22 N 23,335
OblUEd 44X X& 130,000
OOIMEX 0tA=2 E3 K& 22,365
OOIMEX a5 X K& 6,000
OlEL4 DRSS B4 600
OMIIH 2HS0 X & 6,381
OAL7A2 MIE LYXAE X KA 2,326,062
O=A2dsd8XX Sl X 530,000
OZH0IE UM X 16,014
OFe s20lE HH Hel N 87,720
OO0l”I0l S8txig PGX M& X2 77,250




= A

=

JI= ol
500 X3

3’3 520 Al - SHIEZX3S
g 521 Al - SHIBEXZ2S (chel &
EH-E-2-8-5 Off &4 & E 0l At Hr&E2
OM=2AHUH X K& 10,288
O&IIHA FHHl K& 630,000
O&JIOIEX &l XA 5,520
O&IINsSA FeHl XA 1,050,000
O&Jlgt=x gl XA 30,000
OFsA 28I gl=44 X XA 15,300
Oxg AMEAIAHE 2= XA 65,440
O&AINA & Hzdl XN 18,000
OBAZOEN MEE X& 37,500
ZZst = EXNE MY & 75,000
OLPG st= At A Xt K& 58,200
OPM.NOx SAIMZEX 2= K& 45,538
O&EII NS el a2t 1,100,000 1,100




= A
N = 0] &F AF S & AN A
20208 = 20 A LEHSIH D= OOl
SN OIEHOID
M JIEHEHG S
ool JlBHE (S 2 NS (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
JIZ 0o 33,309,480 12,988,386 20,321,094
= 19,074,502
Jl 114,866
= 5,569,392
Al 8,550,720
=S IS 16,493,747 10, 146,002 6,347,745
= 8,656,223
o 2,507,120
Al 5,330,404
JEds g &€ ®#2 1,885,387 7,037,890 N5,152,503
= 339,973
o= 242,500
Al 1,302,914
JISHe HEDIE8HSIUHES AMZ=RAY) 306,942 201,112 105,830
201 YEt2 Ayl 193,542 9,412 184,130
01 AR 22l ] 7,662 7,612 50
OJI&HH3s s =& Zelyg A28 2
192,940 * 43| 772
ONZBHNESX EA M 500& = 1,0000H 500
OJIsHs s 222 M&
100 = 28,0000H 2,800
OJIsHs s 28 842 HH
55,000& = 180H 990
OMEA sMOIIIE &8 HI&
200,0008 * QI A 1,800
Ost=2HeHA BHESHAIE A3lH| 800
02 232%H| 184,080 0 184,080
OS24 JtA His& 2044l 30,0008 = 6,136 184,080
03 A2 G H| 1,800 1,800 0
OJIsHs s U ZAIE 50,000& * 183 900
ONEA SMOIITE e ZAE
50,000& * 183 900
202 044 4,500 2,800 1,700
01 2Ll 4,500 2,800 1,700
OJIZHHg 42 =XOAHY| 4,500
203 ¥ 2 = &4 2,000 2,000 0]
03 Al 2 =& 2 = X H| 2,000 2,000 0
OJIZEUI AESLR2F=XH| 2,000
207 &R IH 2l 78,000 158,000 80,000
01 g EAH| 78,000 158,000 A 80,000
O24A HHEAHHHMH OIHHEAMAN &Y &
25 29 38,000
OtHE=ZHAM 2LIEHEHEAN 2L Y HES
=9 40,000




2AM: JI=UII
M JI=HE S
el JlBEE S ¥ HS (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
301 dEtE2XZ 26,400 26,400 0
01 M BEEE2G2 10,000 10,000 0
OJelHX &I 222 NE0otsdEe KA
5,000,000& = 23| 10,000
09 HALAHIXI &= 1,400 1,400 0
O2aiA 2= 85 XN 1,400
12 JIEtE2 &2 15,000 15,000 0
ONMEA SHMOIIIE AIM2(E) 15,000
-1 5,000,000& * 1JH 24 5,000
-2 3,000,000& = 10 A 3,000
-35 1,000,000 * 7JH 2 7,000
307 QI2t0| ™ 2,500 2,500 0
02 AI2tAAMAIE E =X 2,500 2,500 0
O2altA 2= At Al XT3
250,000& * 103 2,500
JEHSIUHS A 10,000 10,000 0
201 et A | 10,000 10,000 0
03 HALS H b 10,000 10,000 0
OJIZHS s AL =& 10,000
JIIEHS EE HEAE 29 355,500 388,778 N 33,278
201 et A | 38,200 39,000 A 800
01 AFR2t2l bl 4,200 4,200 0
OJIZHS EEMEAMNE LA H &
600& = 7,0000H 4,200
02 332494l 34,000 34,800 A 800
OJI=dHs E2MER SA B
600,000  12& 7,200
OJIZ=Hs HOOsSE SX B
400,000 = 12& 4,800
OJIZ=Hs HOsSE &6t 22 22,000
307 QI2t0| M 305,300 333,778 N28,478
05 A2t E = 305,300 333,778 N28,478
OJIZHS E2MEANE 28 22 305,300
401 Al HI YL 2 0HHI 12,000 16,000 A 4,000
01 A& HI 12,000 16,000 A 4,000
OJ|l=H3s HOsd Z248=01Y &4 B 12,000
HAMHEZ AIEE S4I1A A H48E 25,500 26,000 A 500
= 12,750
Al 12,750
201 LEt2HY| 5,500 6,000 A 500
= 2,750
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SA-3H-S(3AH) - MRAS - BES Off &t 24
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Al 2,750

03 A2 5,500 6,000 A500
OJIFEXZO0 na 29 50,000& * 110&l 5,500

= 2,750
Al 2,750

301 LEIENF 20,000 20,000 0

,000
Al 10,000

H
>

,000 2,000 0
,000

1,000
Al 1,000

R2IIEtEd= 18,000 18,000 0
A

09 AL HI X &=
Al

Ot
H
paa
0
N N

H

20,000 = 2 = 45000 & 18,000

9,000
Al 9,000

H

40
o
1pal
et
He
e
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ra
uin
=
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>
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280,000 135,000 145,000

130,000
150,000

= M

402 2I2tXt=01& 280,000 135,000 145,000

130,000
Al 150,000

in

02 U2 TEALEZ(0IETHR) 280,000 135,000 145,000
OblLEed &x X& 280,000
-J=2X& 2,250 * 300W = 40071 270,000
120,000
150,000
FOtQIdElE 50,000& * 20071 10,000
10,000

= M

H

m
e
e

OIER JtItx QMEIE XIS (EX) 250,000 200,000 50,000
125,000
37,500
87,500

= H W

301 LEIEN = 250,000 200,000 50,000
125,000
37,500
87,500

= H W

243 250,000 200,000 50,000
OEAZQERN QldEE= 250,000
125,000

37,500
87,500

= N W
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4,445 0 4,445

2,223
2,222
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2AM: JIZUO

M JFEHT

ni;

=83 e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 LEHZ 4,445 0 4,445
= 2,223
Al 2,222
12JEEd=S 4,445 0 4,445
OXNSI BHAEIEN AMEE X2 4,445
= 2,223
Al 2,222
SAEQEN YT MES XS (KAL) 3,000 3,000 0
201 LBt2E| 3,000 3,000 0
01 At 22l 3,000 3,000 0
OBAZQEN E2= MZ 1003 = 30,0000H 3,000
2322 2t ASH2LH L 2FKE 100,000 100,000 0
= 50,000
Al 50,000
401 AlEHI L2 OhHI 100,000 100,000 0
= 50,000
Al 50,000
01 A& Bl 100,000 100,000 0
OA=ES 2L 2= AMEHE 100,000
= 50,000
Al 50,000
JI=8st B2 A ALY 300,000 0 300,000
= 150,000
Al 150,000
401 Al HI L =2 T 300,000 0 300,000
2 150,000
Al 150,000
01 A& HI 299,000 0 299,000
OA3E S22 ZdAY 299,000
= 149,500
Al 149,500
03 Al S THHI 1,000 0 1,000
OARs S22 ZHAMS AIE20I 1,000
= 500
Al 500
ZZ e S ENE ALY 250,000 100,000 150,000
< 75,000
Al 175,000
401 Al HI K 201 I 250,000 100,000 150,000
< 75,000
Al 175,000
01 A& HI 250,000 100,000 150,000
ASHSANE SEEIANLE £ 250,000
< 75,000
Al 175,000




A JIFUI 2
M J=HSG S
& IS ES (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
EAXNSAH B2 14,608,360 3,108,112 11,500,248
= 8,316,250
& 2,264,620
Al 4,027,490
HIINsSA E2 2435 33,860 25,112 8,748
201 et d| 33,860 25,112 8,748
01 AP 22| H| 12,020 9,992 2,028
OF&I| 22l =2 710,000 = 128 8,520
OrX&EAINSK B2 EE2S MZE
350& * 10,0008 3,500
02 Z2=2=24%4| 21,840 15,120 6,720
Os&I MII2 100,000& = 77| = 12& 8,400
OsdI 82 10,000& = 70| » 12€ 840
OsdI| =K AH| 150,000 = 77| = 12€ 12,600
MIOIKSA E2AHY 4,867,000 2,798,000 2,069,000
= 2,800,000
& 1,050,000
Al 1,017,000
402 SI2t X0l ™ 4,746,000 2,750,000 1,996,000
= 2,712,000
& 1,017,000
Al 1,017,000
02 QX2 A E X (0| XM THSH) 4,746,000 2,750,000 1,996,000
O&IIXNsX F#H X&
14,000,000& * 339CH 4,746,000
= 2,712,000
o= 1,017,000
Al 1,017,000
405 KHAHFE S HI 121,000 48,000 73,000
= 88,000
&< 33,000
01 JHMY 2= EF S HI 121,000 48,000 73,000
O2& &MIIAsX Fed X
11,000,000 = 11CH 121,000
= 88,000
o=} 33,000
HII0IEX ES3AHY 46,000 25,000 21,000
= 23,000
= 5,520
Al 17,480
402 SI2FXHE0| & 46,000 25,000 21,000
= 23,000
& 5,520
Al 17,480
02 QX2 A E X (0| HTHS) 46,000 25,000 21,000




AN =01
g J|l=HE S
& IS ES CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O&II0OIEX L8l XI&  2,300,000& = 20CH 46,000
= 23,000
< 5,520
Al 17,480
HIIEEX BESAY 225,000 0 225,000
= 180,000
< 30,000
Al 15,000
402 RIZEXt20l ™ 120,000 0 120,000
= 90,000
< 15,000
Al 15,000
02 RIZEXt 2 AL EZ (01T ) 120,000 0 120,000
OdJlst=x &8l XI& 24,000,000& * 504 120,000
= 90,000
< 15,000
Al 15,000
405 XHobF S HI 105,000 0 105,000
= 90,000
< 15,000
01 AL EZFH S 105,000 0 105,000
O=8 AJlst2x 7*ed X
21,000,000& =« 504 105,000
= 90,000
S 15,000
HIIHA BE3AHS 6,000,000 0 6,000,000
= 3,000,000
< 630,000
Al 2,370,000
402 2I2H X201 M 6,000,000 0 6,000,000
= 3,000,000
< 630,000
Al 2,370,000
02 QI E2AIS EZ (OIS ) 6,000,000 0 6,000,000
OdEJIHA FHl XI&  200,000,000& * 30CH 6,000,000
= 3,000,000
< 630,000
Al 2,370,000
SAUEEIN ESAMS (2T 2Y) 3,310,000 140,000 3,170,000
= 2,250,000
< 530,000
Al 530,000
402 RIZEX20| A 3,310,000 140,000 3,170,000
= 2,250,000
< 530,000
Al 530,000
02 LA TEALEZ(0IETHR) 3,310,000 140,000 3,170,000
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= N H

6,500
3,250
1,100
2,150

6,500

= Hn W

6,500
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1,100
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6,500

01 AtR 22l |

O&IITSA HiElel 214 22l

= N H

6,500

6,500
3,250
1,100
2,150

6,500

tHolerd Ho

= N H

15,769,654
10,046,704
2,944,417
2,778,533

2,110,508

13,659, 146

FE3UI 2H

= N W

11,282,100
7,625,440
2,390,862
1,265,798

781,128

10,500,972

ol o

147,598
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52,418
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29,980

23,100
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OBABUYA TH 7

30,000& = 38 * 4&

OUJIHEMNSE 2E22XNE & HA HMH

5,000& = 1,000

48,760
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5,000

27,100

21,660




AR S i
M o183 He

e A B2H (9%_@9\:’)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OH=z= ANE2MF 271 ¢
100,000 * 108+ A 1,000
otxE ASIHF g 2l 300,000 * gE+A 1,800
OYX AMEMF X 2 100,000 * 10w 1,000
OAZMFI & HHlx=&Hl 250,000 = 43| 1,000
OIIQIEa NEMF =2
400,000 * 5000 A 20,000
OAFDLIHE AAEH ARE 2
400,000& = 3CH = 33l 3,600
O2%F2LIHE A" I/ O/ld & =M 15,000
-8232 0|d 5,000,000 = 1CH 5,000
- &g ol & &4 10,000,000& = 1CH 10,000
02 Z32%H| 4,320 2,880 1,440
OAFIZ2LIHE AlAEH HMIIES L AHSHE
80,0008 * 4CH » 12 3,840
O3S %4322 T8 FUE SME
40,0008 ~ 104 ~ 128 480
202 044 4,200 5,200 A1,000
01 2L I 4,200 5,200 A 1,000
OWIIEdE d2=& Yl 700,000 = 6H 4,200
301 et A= 318 0 318
09 SHAIAHI X & 2 318 0 318
OSZE AHMEZA QAT X 318
307 QI2t0| ™ 60,000 60,000 0
08 OIXIE & 2 60,000 60,000 0
OJIgetdEAAE W X3 0lA XS 60,000
405 XHo&HF S HI 30,000 0 30,000
01 XAt 2 FF S| 30,000 0 30,000
ORQoIetxFzILEI 2 30,000
o182 e (2x) 1,200 1,200 0
= 600
& 600
301 et A= 1,200 0 1,200
= 600
& 600
12 JIEtE2 &= 1,200 0 1,200
Otfs=g A oIagiscs EHIl4E 1,200
=2 600
o= 600
=2SAHSSHI| I X - 28224 XN 373,800 50,748 323,052
= 276,000
=} 48,900
Al 48,900




2N
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S oorEd ohd
FE3UI =2H

SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
402 QI2F X2 0| & 373,800 50,748 323,052
= 276,000
[ 48,900
Al 48,900
02 BIZXIE ALY EX(0IETHH) 373,800 50,748 323,052
O=2SsAHs=d)|) 29224 XN 373,800
= 276,000
o= 48,900
Al 48,900
A2 AEE SXAIE X K& 10,628,602 164,000 10,464,602
= 7,268,940
& 2,326,062
Al 1,033,600
402 Q12+t X220l & 10,628,602 164,000 10,464,602
= 7,268,940
& 2,326,062
Al 1,033,600
02 QX2 A E X (0| & THS) 10,628,602 164,000 10,464,602
OotlIg=a HXAIE X XN 10,502,602
= 7,198,940
< 2,303,662
Al 1,000,000
OAMS2HY (loT) 2 X
3,150,000& = 4000 2 126,000
= 70,000
= 22,400
Al 33,600
F=RA 23| g+=4&H X K& 130,900 0 130,900
= 79,900
= 15,300
Al 35,700
402 SI2FXHE0| M 130,900 0 130,900
2 79,900
= 15,300
Al 35,700
02 BIZEXIE2AMNYEX(0OIETHH) 130,900 0 130,900
O8s)| al4&=4&H XJ| &X X&(34) 103,700
= 62,900
& 12,240
Al 28,560
OKZI| 3l=4&H Z=J| X X&(24) 27,200
= 17,000
= 3,060
Al 7,140
DIMBIX M2 % S 4,487,554 1,329,380 3,158, 174
= 2,421,264
& 553,555
Al 1,512,735




S IJI=UOI

BoO0led e
POIMIgN M2 W OE

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OLMESX e 78,751 50,640 28,111
201 £B-2d| 74,251 44,740 29,511
01 At 22l 46,500 40,900 5,600
ONsSx 2dHME 22 M
100& = 50,0000H 5,000
OO0IMZXRX tHE &8 &=+ MZH
55,000& = 400H 2,200
O2dX E=FH =4l 300,000& = 63l 1,800
O28I tHEtA8 228 22
300,000& = 33l 900
OS#X CETY FTAMN 248
200,000& * 63 1,200
OFHANS AUTIE 22 =7
80,000& * 3000H 2 24,000
OBINEHX 210158 Yxts 11,400
02 8323l 20,751 3,840 16,911
OOIMIYX M5 E RHdSME
9,900& = 8CH » 12& 951
OCCTY &Jlg ¥ fa8dz
70,000& = 1004 ~ 123 8,400
OXNSA 2HE ¢ SERS
380& = 30,0000H 11,400
03 &AL S HI 7,000 0 7,000
ODIMEX e AL =& 7,000
202 oddl 3,500 5,900 A 2,400
01 = LH o4 1l 3,500 5,900 A2,400
otIguy dR=& bl
700,000& = 5H 3,500
301 LEEAZ 1,000 0 1,000
09 HALAHIX RS 1,000 0 1,000
OO0IMYR e dANEEs N 1,000
N N=AE2H BE= ALY 36,000 0 36,000
= 21,600
Al 14,400
402 RIZEX20l A 36,000 0 36,000
= 21,600
Al 14,400
02 212t X2 AFLE = (01X THE) 36,000 0 36,000
ONEE N=sABYYH B2
200,000& * 1009t+ 20,000
= 12,000
Al 8,000
OMASE NsAE2Y B2
500,000& = 32AllCH 16,000
= 9,600
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Sl DRI M2 % oS (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
| A 5,400
OIAI X ZEAIKI & 88,000 0 88,000
= 44,000
Al 44,000
101 @14 dl 66,400 0 66,400
= 33,200
Al 33,200
04 JIZHHZ22XREE S 66,400 0 66,400
ODIMEX 2ZAIE 212 14,800,0008 * 4H 59,200
= 29,600
Al 29,600
ODIMEX 2AE 4HEE S
200,000& = 4% = 8& 6,400
= 3,200
Al 3,200
ODIME X 2PAIE T=4| 200,000&  49H 800
= 400
Al 400
201 Lt 2| 21,600 0 21,600
= 10,800
Al 10,800
01 At 22l 18,594 0 18,594
OO0IMIHX 2AlEE WK E DY
400,000& = 49 1,600
= 800
Al 800
OO0IMER ZAIE 28 22 M 994
= 497
Al 497
ODIMIH X ZPAIE 2 AIXHE Xt
1,000,000& = 83 204 16,000
= 8,000
Al 8,000
02 2324l 3,006 0 3,006
ORFHl
60km * 1,500& * 0.1L * 167 = 2CH 3,006
= 1,503
Al 1,503
OIMSHX OtA3 E2 ALY 74,550 122,800 A 48,250
< 22,365
Al 52,185
201 2yt 2 Y| 74,550 122,800 48,250
= 22,365
Al 52,185
01 At 22l 74,550 122,800 A 48,250
OOIME X OtA3 B 74,550
< 22,365
Al 52,185
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